Esercizi su Gram-Schmidt

Sistema n. 1
B'= {(O, 1,3,2),(0,—-2,0,—1),(0,-3,3,1)}
1

{\/_(, ,3,2), \/ﬁ<0’_4’2’_1)’%(0’_1’_1’2)}
Sistema n. 2
B’={(1,2,-1,1),(0,2,0,0),(—-2,3,—1,1)}
:{W(LZ_L1)’ﬁ(_2’372’_2)’%(_2’0’_1’1)}

Sistema n. 3
B’'={(-2,0,-1,-2),(-3,0,0,3),(—3,0,0,—1)}

1 1
B'={>(=2,0, -1, -2),—=(—1,0,0,1),——=(—1,0,4, —1
(5 ) J5(1:0.0.). )
Sistema n. 4
B’={(-3,-2,0,0),(1,1,0,0),(2,1,—6,2)}
1
B ={——(—3,-2,0,0),——(—2,3,0,0),——(0,0, -3, 1
(! ) 5(-2:3.0.0. 7= (0.0.3.1)}
Sistema n. 5
B'={(~1,0,0,-2),(3,3,1,1),(~2,3,1,3)}
1
= __170707_ T =4 717_1 T _4737172
(= =231~ = (—4.3.1,2))

Sistema n. 6
B’:{(—Q, 3, 2, —4),(2, —2,—2, 4),(—3, —2,1, —2)}

1 1
B ={——(-2,3,2,—4),——(1,4,-1,2),——(=5,0, —1,2
{\/33< ) \/ﬁ( ) \/%( )}

Sistema n. 7
B’={(0,-2,2,0),(0,0,—2,—1),(0,—2,-3,-3)}

1
:{E(O’_l’1’0)’ﬁ(0’_1’_1’_1)’%(0’1’1’_2)}
Sistema n. 8
B'= {(1 2,0,0),(—-1,3,0,—-2),(—2,0,0,3)}
1,2,0,0), 1( 2,1,0,—2),—=(—4,2,0,5)}

{\/—( 7%

Sistema n. 9
B’:{(Z, 1,1, 3),(2, -3, —3, —1),(—1, -1, —1, 1)}

B”:{\/—1_5(2, 1,1, 3),%(1, ~1,-1, 0),\/—1_0(—2, ~1,-1,2)}

Sistema n. 10
B’:{(—S, -3,2, O),(O, 0,1, 0),(1, 1, -3, 2)}

B'={——(-3,-3,2,0),——(1,1,3,0),1(0,0,0,1
(75 ) 7(1:1,3.0,10,0,0.1))

Sistema n. 11



B’Z{(Q,O, 0,0),(2,—3,—1,2),(—1,0,3,—6)}
1
={1(1,0,0,0),—(0, -3, —1,2),—(0, —5, 3, —6
i ) \/ﬁ< ) \/%( )}

Sistema n. 12

B'={(—3,2,-3,0),(0,3,0,0),(2,3,2, —3)}
:{E(—z&, 2,3, O>’\/T(1’ 3,1,0),1(0,0,0, —1)}

Sistema n. 13

B7:{(_37 _37 1? _1)7(_27 07 Oa O>a<_37 _37 _27 2)}

B'={——(-3,-3,1,—-1),——(—11,9,-3,3),—(0, -2, -3, 3
(G )5 )5 )
Sistema n. 14
B7:{(Oa_2a_2a_1)7(0707_1a_3)7(07_271a3)}
1 1 1
B”"={-(0,-2,-2,-1),——(0,10,1, —22),——(0, —5, 6, —2
5 )37 )=l )
Sistema n. 15
B’={(0,0,0,-2),(3,-3,3,1),(—2,—-3,-2,3)}
={1(0,0,0,—-1),—(1,-1,1,0),—=(—1,—-2,—1,0
{1( ) \/5( ) \/6( )}
Sistema n. 16
1
B'={—(-1,-2,3,-1 1,2,2,1),——(—1,-2,0,5
(5 ) ﬁ< ) F< )
Sistema n. 17
1 1
-3,3,—6 9,1,—-1,2),—(0,—5,—1,2
{\/—( ) \/ﬁ( ) m( )}
Sistema n. 18
B,:{(_lvlvoa 0)7(37 _3727_2)7(_3a 3717_2)}
B"={—=(-1,1,0,0),—(0,0,1,—-1),—(0,0, —1, —1
{\/5( ) \/5( ) \/5( )}
Sistema n. 19
B’={(0,0,1,0),(2,—1,-3,1),(2,-1,0,3)}
={1(0,0,1,0),—=(2,—-1,0,1),——(—2,1,0,5
{1( ) \/(—),( ) \/%( )}
Sistema n. 20
B'={(-3,3,2,3),(—-2,2,-1,2),(—2,1,-3,2)}
1 1 1
B'={—=(-3,3,2,3),—(—2,2,-9,2),—(—1,-2,0,1
(T (-3.8.2.8), )z )
Sistema n. 21
B'={(2,2,-3,-3),(1,1,-3,-3),(2, -3, -2, -2)}
={—=(2,2,-3,-3),—(-3,-3,-2,—2),—(1,—-1,0,0
{\/%( ) \/%( ) \/5( )}

2



Sistema n. 22
B'= {(1 -2, 11) (—-1,1,3,-1),(-3,-3,—-1,-3)}

{\/_( -1,1), \/5(0,—1,2,0),ﬁ(—5,—4,—2,—5)}

Sistema n. 23
B'={(-2,-2,1,0),(—6,-2,3,0),(—4,—-1,2,-1)}

1
B”:{g(_Qv _27 1a 0)7%(_47 57 2; 0)71(()’ 07 07 _1)}

Sistema n. 24
B’={(0,-2,2,0),(0,3,-2,0),(—2,3,3,6)}

1
:{E(O’ ~1, 1,0),5(0, 1, 1,0),\/—1_0(—1,0,0,3)}

Sistema n. 25
B’={(2,-3,0,-1),(0,2,0,-1),(—2,0,0,3)}

1
—{—(2,-3,0,—1),——(10,13,0, —19),——(5, 2,0, 4
(g )55 )55 (5:2:0.0)
Sistema n. 26
B,:{<37_37_973)7<1717—37—1)7(_1727371)}
i 1a_1a_3a1 s L = 1755_?”_5 T = OylaOa]-
G g ) 50101}
Sistema n. 27
B7:{<_172707_1)7<17_37071>7(_1a_27072)}
={—(~1,2,0,—1),—(—1,-1,0,-1),—=(—1,0,0, 1
{\/6( ) \/g( ) \/5( )}

Sistema n. 28
B'= {( 2,—1,—6,—3),(—3,3,—9,—1),(—2,—1,—6,0)}

-1,-6,-3),——=(-3,21,-9,13),——(—1,-7,-3,9
{52 ) o )57 )
Sistema n. 29
B’={(1,-2,0,-1),(3,0,0,3),(1,1,0,1)}
={—(1,-2,0,—1),—(1,0,0,1),—(1,1,0, —1
(= ) 5(1.0.0.1).—=(1.1.0. -1}
Sistema n. 30
B’:{(l,(),—2,—2),(0,—2,0,0),(1,0,—1,—2)}
1
B ={=(1,0,—2,—2),1(0, —1,0,0),—=(2,0,5, —4
3 )10.~1.0.0) (2,05 ~4))
Sistema n. 31
B’={(1,2,0,-2),(3,-3,0,-3),(0,—1,0,2)}
1 1
B ={-(1,2,0,—2),——(8, —11,0, —7),——(4, 1,0, 3
(5(1.2.0.-2) )= (41.0.3))

Sistema n. 32



B'= {(o ~1,6,2),(—2,—1,—6,—-2),(3, -2, -9, —3)}

1 1
1,6,2),——(—41, —40, -6, —2),——(20, —20, =3, —1
—{0.-1,6.2) ) g )
Sistema n. 33
B’={(1,-3,-3,1),(2,0,-2,0),(0,6,3,—2)}
1
=5 = 17_37 _371 P~ 4737_27_1 P _5737_57_1
(e ) ) )
Sistema n. 34
B7:{(_37072a_3)7(1a_3a_171)7<2a_2a372)}
1
B'={— _370727_3 T e _17_337 _37_1 ' A 37_17973
(5 ) ) 153 ~1,9.3))
Sistema n. 35
B’Z{(O,—3,3,—2),(—2,—3,3,0),( )}
1 1 1
—{——(0,-3,3,-2),——(—11,-3,3,9),——=(—3,1,—1,-3
(5 ) 5 —R(-3.1,-1,-3)
Sistema n. 36
B’={(-1,0,0,-3),(—2,0,0,3),(—1,—3,-3,3)}
B'={—(-1,0,0,-3),—(-3,0,0,1),—(0,—-1,-1,0
{m( ) \/ﬁ( ) \/5( )}
Sistema n. 37
B'={(1,-1,-1,1),(2,0,-2,2),(3,3,3 3)}
1
B"={3 17_17_171 I~ 1737_ ) 1707271
{5( )2\/3( )\/6( )}
Sistema n. 38
B’={(0,1,-1,0),(6,—-1,1,—-2),(—9,2,2,3)}
1 1 1
—{——(0,1,-1,0),—(3,0,0, —1),—(0,1, 1,0
{\/5( ) \/E( ) \/5( )}
Sistema n. 39
B’={(0,-1,1,-1),(0,-2,2,-3),(0,3,—2,3)}
—{—(0,-1,1,-1),—=(0,1, -1, ~2),—=(0,1,1,0
{\/3( ) \/6( ) \/5( )}
Sistema n. 40
B’={(0,2,2,1),(3,2,2,-2),(—1,—-1,-1,1)}
1
B ={=(0,2,2.1),——(9,2,2, —8),—— (4, —1, 1,4
(302215 =(0.2.2.-8) = )
Sistema n. 41
B7:{(170a_2a_Q)a(1a0737_2)7(_3a07_270)}
1 1
B’={5 1707_27_2 I 270757_4 T = _270707_1
{5 )3\/5( )\/5( )}
Sistema n. 42
B'={(-1,1,1,0),(-2,-1,-1,0),(—2,0,2,0)}
B ={—(~1,1,1,0),—=(—2, ~1, —1,0),—=(0, —1,1,0
{\/3( ) \/6< ) \/5( )}



Sistema n. 43
B’={(3,0,0,9),(1,1,1,3),(—3,—-1,3,-9)}

1 1 1
B"={——(1,0,0,3),—(0,1,1,0),—(0,—1,1,0
{\/ﬁ( )= ( )= ( )}

V2 V2
Sistema n. 44

B’={(-3,-1,1,1),(0,3,-3,-3),(2,-3,-2,-2)}

1 1 1
B’ ={——(-3,-1,1,1),=(-1,1, -1, —1),—=(0, -2, -1, —1
{2¢§( )5 ( )\/6( )}

Sistema n. 45
B’={(0,1,0,-3),(0,—-1,0,0),(—1,1,2,-2)}

1 1 1
B"={——(0,1,0,-3),——(0,-3,0, —1),—=(—1,0,2,0
{\/ﬁ< ) ( ),—=( )}

V10 V5
Sistema n. 46

B’={(-3,0,0,1),(2,1,-2,0),(—3,2,—4,1)}

1 1
B’'={——= _37()’071 Y o 1a57_]—073 Y S~ _5a27_47_]—5
(=(-3.0.0.1) ) )

3v/15
Sistema n. 47

B’={(0,0,3,0),(2,-6,3,3),(3,4, -2, -2)}

1 1
B”:{l(oa 07 17 0)7?(2a _6a 07 3)77_\/5(15a 47 07 _2)}

Sistema n. 48
B’:{(—l, 1,1, 1),(—2, -3, -3, 2),(—1, 0,0, —2)}

1 1 1
B”:{§(_17 ]-a ]-7 1)75(_17 _17 _17 1)7%(_17 07 07 _1)}

Sistema n. 49
B’:{(—4, 1,1, —2),(0, 2,2, O),(—Q, 1,2, —1)}

1 1 1
B’'={— _471a17_2 [y 2757571 L=~ 07_1’1’0
(st L2551, )

V55 V2
Sistema n. 50

B'={(-1,-1,2,-1),(0,0,0,—-2),(—3,-3,2,-3)}
1 1
B"={—= _17_1)27_1 I 1717_27_6 P~ _]-7_]-)_]-)0
{\/7( )\/@( ), —=( )}

V3
Sistema n. 51
B’:{(—Z, 1,1, —1),(0, —2,-2, 2),(—3, -1,3, 1)}

1 1
B”:{W(_Q’ 17 17 _1)7\/?(_37 _27 _27 2)7_(07 _17 27 1)}

V6
Sistema n. 52
B’:{(Z, 1, -2, —3),(—3, —-2,3, 2),(1, 3,—1, 2)}

1
B'={—%= 2;17_27_3 [ _77_87 77_12 ) _275a27_]-
Gl v )= )

2l
e~

Sistema n. 53

ot



B'={(3,-9,3,3),(=2,0,0,2),(2,3,—1,—1)}

1 1
B”= -3,1,1 1,0,0,1),——(5,3,—1,5
(G50 =81 (10,01 (5.8, -1.5))
Sistema n. 54
B7:{(_17070a 3)7(0767270)7(3767272)}
1
B"={—(-1,0,0,3),—(0,3,1,0),——(3,0,0, 1
(5 (-1.0.0.8). 7= (03.1.0). 7 (3.0.0.1))
Sistema n. 55
B'= {(0 2,0,-3),(~2,0,-2,1),(3,3,3,3)}
1
12,0, -3 13,3,-13,2),——(1,6,1,4
s 0.2.0.3) (- )5 (1:6.1.4)

Sistema n. 56

B'={(-3,-1,-3,-3),(3,1,—1,-1),(-2,-2,3,3)}

1 1

B'={——=(-3,—-1,-3,-3 9,3,—5,—5 1,-3,0,0

{2\/7( ), \/%( ), m( )}
Sistema n. 57
B’={(1,3,-2,-6),(2,1,1,—-2),(1,3,3,—6)}

1
={—(1,3,-2,—6),——(17,1,16, —2),——(—5,1,5, =2

(5 5755 )=l )
Sistema n. 58
B’={(-3,2,0,0),(0,0,-3,0),(—3,—2,—1,0)}
B'={—= _3727070 71 0707_170 'y oo _27_37070

{\/ﬁ( ),1( ) \/ﬁ( )}
Sistema n. 59
B’={(2,3,0,2),(—2,0,0,2),(3,3,0,0)}

1 1 1

B"={——(2,3,0,2),—(-1,0,0,1),—(-3,4,0, -3

(55(2:3.0.2).2(-1.0.0.1), )
Sistema n. 60
B'={(2,2,2,1),(—-3,-3,-3,-2),(—2,—2,—1,0)}
B'={——(2,2,2,1 1,1,1,-6),—(—1,—-1,2,0

(52221511126 )
Sistema n. 61
B'={(-1,1,0,0),(-3,3,3,2),(—1,1,0,2)}

={—=(-1,1,0,0),—(0,0, 3,2),——(0,0, —2, 3

{\/5( ) \/ﬁ( ) \/ﬁ( )}
Sistema n. 62
B'={(-2,1,0,-2),(-3,—1,0,1),(1,3,0,1)}

1 1 1

B"={-(-2,1,0,-2),——(—7,—4,0,5),——(—1,8,0,5

(3 )35 ) g (~L8.0.5)

Sistema n. 63
B'={(— 3,1, 1,3),(-1,1,0,1),(1,2,-1,-1)}

1
{2f< —1,3),%(1,13, 7’_1)’E(1’2’_4’_1)}

(=)



Sistema n. 64
B’={(0,0,1,3),(0,0,1,2),(-2,—1,-3,1)}

1 1
B ={—_ 0’071’3 —— O’O’ 37—]_ S— —2,—1,0,0
(=(0.0.1,3) (00,3, 1), )

V10
Sistema n. 65

B’={(0,1,0,0),(—2,0,0,0),(—3,—2,0,3)}
B”={1(0,1,0,0),1(-1,0,0,0),1

Sistema n. 66
B7:{<_37 07 67 3)?(_37 07 67 _3)7(17 _27 _27 1)}

1 1
B”Z{%(_l’ 0,2,1),—(-1,0,2,-5),1(0,—1,0,0) }

V30
Sistema n. 67

B’={(2,0,2,1),(—1,0,2,-2),(2,0,2,—-2)}

1 1 1
B”:{§(27 07 27 1)7§<_17 Oa 27 _2>7§(27 07 _17 _2)}

Sistema n. 68
B’:{<17 27 _27 O>7(37 07 07 _1)7(_27 27 _27 _3)}

1 1 1
B"={ 1727_270 ' A 87_2727_3 y = _4717_]-7_]-2

Sistema n. 69
B’={(2,-1,0,-2),(6,-3,-2,3),(—2,1,3,0)}

1 1 1
B7,:{§(2, —1,0, —2),7(4, —-2,-2, 5),m(8, —4,45,10)}

Sistema n. 70
B’={(-2,1,6,-3),(—3,1,9,-3),(2,0,—6,3)}

1 1
(—=2,1,6,-3),——=(—1,-2,3,6),—(0,3,0,1)}

s L
=5 N Vi0

Sistema n. 71
B'={(-1,1,-1,3),(-2,1,-2,1),(3,—1,3,-1)}

1 1
B'={——(-1,1,-1,3),—(—4,1,—4,—-3),——(1,5,1, —1
{2\/§( ) ( ) ( )}

V42 T
Sistema n. 72

B7:{(_27270a 2)7(17_17_171)7(_3a 37373)}
1 1 1
B’ ={—(—1,1,0,1),——(2, —2, —3,4),——(1, —1,4,2
{\/g( ) ( ) ( )}

V33 V22
Sistema n. 73

B7:{(_17 Oa Oa 0)7(_3a 37 37 _2)7(27 17 17 _1)}

1 1
B”:{l(—l, O, 0, 0),@(0, 3, 3, —2),ﬁ(0, —1, —1, —?))}

Sistema n. 74
B'={(-1,-1,2,-2),(1,-1,-2,-2),(1,0,—3,0) }



<_17_172?_2)7 _1a_2a_2)a (_2707_170)}

Sl

aop L b
B _{m m(L

Sistema n. 75
B’:{(—Q, 2,0, O),(—2, 2,0, 3),(2, 3,0, O)}

1 1 1
B”:{E(_L 1,0,0),—=(0,0,2,1),—(1,1,0,0)}

V5 V2
Sistema n. 76

B'={(0,2,0,2),(4,0,—2,0),(—6,3,3, —3)}
1 1 1
B"={—(0,1,0,1),—(2,0, —1,0),—(0, 1,0, —1
{ﬁ( ) —=( ) —=( )}

V5 V2
Sistema n. 77

B'={(~2,2,0,0),(~3,1,0,0),(3, —3,6,3)}
1 1 |
B’ ={—=(~1,1,0,0),—=(~1,~1,0,0),—=(0,0,2,1
175! )= ( ) —=( )}

2 /5
Sistema n. 78

B={(-1,-1,1,1),(3,2,-2,-3),(1,1,3,—1)}

1 1 1
B’={-(-1,-1,1,1),-(1,-1,1,—1),—(0,1,1,0
(GOEL =L LD 501,11, -1),—5(0,1,1,0))

Sistema n. 79
B’'={(2,1,2,-2),(2,0,—1,—-2),(0,—2,1,0)}

1 1
B’ ={——(2,1,2, —2),——(14, -6, —25, —14 1,-12,4,—1
{\/ﬁ( ) ( ) —7( )}

’9\/5

9413
Sistema n. 80

B'={(0,2,—4,-3),(3,2, —4,0),(3,—2,4,1)}
1 1 1
B ={—(0,2, -4, —3),——(29, 6, —12, 20),—— (10, —3, 6, —10
{ 79( ) ( ) ( )}

7V/29 75
Sistema n. 81

B’={(0,6,3,3),(2,-2,-3,-1),(—2,4,1,2)}
1 1 1
B7= 07271a1 ) 6727_571 T oo _572a_5a1
{_\/6( )i —=( )i —=( )}

V66 V55
Sistema n. 82

B’={(0,0,-2,0),(—3,—1,-3,1),(0,3,—1,-3)}

1 1
B”:{l(oa 07 _]-7 0)7\/?(_37 _17 07 1)7@(_27 3a 07 _3)}

Sistema n. 83
B’={(0,-2,2,3),(0,-3,3,-2),(0,3,2,-2)}

1 1 1
B ={—_ 0,-2,2,3),—(0,-3,3,—4),—(0,1,1,0
{\/ﬁ( )= ( )7 ( )}

V34 V2
Sistema n. 84

B'={(3,-3,3,3),(2,-3,3,3),(3,—3,-3,-3)}

1 1 1
B ={-(1,-1,1,1),—=(-3,-1,1,1),—=(0, -2, -1, —1
{5( )2\/5( )ﬁ( )}




Sistema n. 85
B’:{(—Z, 0,0, 1),(2, —4,2, —1),(1, 0,0, 1)}

:{E(—Q, 0,0, 1)’ﬁ(0’ ~2,1,0),7(1,0,0, 2)}

Sistema n. 86
B7:{<37 —1,-1, 2)7<17 —2,-2, _1)7<3a 0,0, 0)}

={—3,-1,-1,2),—(0,—1,—-1,—-1),——(2,1,1, -2
B e e
Sistema n. 87
B’={(0, 3,1,—1) (0,2,-1,3),(0,-3,-3,-3)}
1 1
0,3,1,—1),——(0,16,—13,35),——=(0,2, —11, =5
B ={ (0,5, 1~ | )l )
Sistema n. 88
B7:{<_272737 3)?(27_27_27_1)7(0707_173)}
1 1
B"={——(-2,2,3,3),——(18,—18, —1,25),——=(—3, 3, —8,4
(22,83 )75 )

Sistema n. 89
B’:{<_2727_17_1)5(37070,_1) ( 6 3 1)}
1

1

B’ = _272’_1’_1 — 4727—]_,— — —1,—2,1,—3

(s )l )= )
Sistema n. 90
B’={(0,-3,2,-6),(2,3,-2,6),(—3,0,—3,9)}

1

B”={-(0,-3,2,—-6),1(1,0,0,0),——(0, —20, —3,9

G )10,0.0) )
Sistema n. 91
B’Z{(2,3, 2,—6),(—3, —3,—2,6),(—2,2,—1,—4)}

1 1 1
={—=(2,3,2,—6),——(—49,6,4,—12),——=(0,2, —15, —4
(523226 )7l )

Sistema n. 92
B’={(0,-2,-6,3),(0,3,-6,3),(—1,2,2,—1)}

1 1
B”:{?«)? _27 _67 3)77_\/3(07 157 _47 2)71(_]—7 07 07 O)}

Sistema n. 93
B’={(-1,0,1,0),(0,1,0,1),(2,3,—-2,1)}

B ={(~1.0.1.0) 5= (0.1,0.1) L 0.1,0,-1)}

7%
Sistema n. 94
B’={(0,3,1,2),(3,-3,—1,1),(1,6,2,2)}

1 1
B'={——(0,3,1,2),——(7,-3,—1,5 5,3,1,=5
(¢ oL )=l )}

1
"24/15

Sistema n. 95

B7:{(_17 _17 2a 2)a(_37 17 07 0)7(_1a 37 07 0)}



1
<_17 _17 2a 2>a—(_7737 —1

1,3,1,1
21/15 )

o L NI
B _{m ) 1)72\/3(

Sistema n. 96
B’'={(2,-2,-2,0),(3,—1,-3,0),(3,2,2,0)}

B”:{%(l, ~1, —1,0),%(1,2, —1,0),%(1,0, 1,0)}

Sistema n. 97
B’:{(—l, 1, -2, 1),(—2, 2,—1, 2),(—2, 2,3, 0)}

1 1 1
B”:{ (_1717_27 1)7 (_272a3a 2)7 (_171a07_2)}
V7

V21 V6
Sistema n. 98

B’'={(0,2,-2,0),(—1,0,-2,1),(0,0,2,0)}
1 1 1
B"={—(0,1,-1,0),>(—1,—1,-1,1),=(=1,1,1,1
{ﬁ( )5 ( ):5( )}

i)
Sistema n. 99
B’={(1,2,-2,2),(0,-2,2,1),(0,-3,3,2)}

1
B —{——(1,2,-2,2),—— (6, —14,14,25),——(—12,1, —1, 4
{ T3< )9 #13( )9\/5( )}
Sistema n. 100
B,:{<_17_1707_1)7(071717 )7(3707373)}
1 1 1
B —={——(=1,-1,0, —1),——(—1,2,3, —1),——(1,-2,2, 1
{\/5( ) #15( ) TO< )}
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